
Service Parts Catalog Contents

PageSet 6

Body

390 Mirrors

EXTERIOR

DRIVER AND PASSENGER SIDE

With: FEATURE 30483-11, 30482-05
_____________________________________________________________________________ 1

DRIVER SIDE

HEATED/ REMOTE

With: FEATURE 30482-05
_____________________________________________________________________________ 2

MANUAL

With: FEATURE 30483-11
_____________________________________________________________________________ 3

PASSENGER SIDE

HEATED/ REMOTE

With: FEATURE 30482-05
_____________________________________________________________________________ 4

MANUAL

With: FEATURE 30483-11
_____________________________________________________________________________ 5

INTERIOR

DRIVER'S STEPWELL

With: FEATURE 6194
_____________________________________________________________________________ 6



Models: C4RE
EXTERIOR
DRIVER AND PASSENGER SIDE

With: FEATURE 30483-11, 30482-05

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005050

0059020 MIRROR ASSEMBLY,ROADSIDE,

0059022 MIRROR ASSEMBLY,CURBSIDE,

0059019 MIRROR ASSEMBLY,ROADSIDE,HEATED-

0059021 MIRROR ASSEMBLY,CURBSIDE,HEATED-REMOTE

4759872 SWITCH,MIRROR,REMOTE,ROADSIDE

1878602 4 SCREW,5/16-18 X 2,F,HEX HD,YEL ZN DICH

0385484 BUSHING,NYLON,.437 HEYCO

1
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
EXTERIOR
DRIVER SIDE
HEATED/ REMOTE

With: FEATURE 30482-05

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005053

2
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
EXTERIOR
DRIVER SIDE
HEATED/ REMOTE

With: FEATURE 30482-05

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005053

0059019 MIRROR ASSEMBLY,ROADSIDE,HEATED-

1 0063653 HOUSING,MIRROR HEAD,B&R

2 0063441 ARM,MIRROR,6",DRIVER,B&R

3 0063315 GLASS,MIRROR,FLAT,UPPER,DRIVER,B&R"

4 0063316 GLASS,MIRROR,CONVEX,BOTTOM,DRIVER,B&R

5 0063317 MOTOR,MIRROR,12V,HTD/REMOTE (B&R)" INCLUDES UPPER & LOWER 
MOTOR.

6 NOT AVAILABLE SEPARATELY, 
ONLY AVAILABLE WITH KEY #1.

7 0063324 CAP,BOLT,MIRROR ARM,B&R

8 0063431 BOLT,HEX HD,SS,B&R MIRROR ARM

9 0063562 CLAMP,BOLT,MIRROR ARM,B&R

10 0063387 BRACKET,MTG,MIRROR ARM,DRIVER,B&R

11 0063595 NUT,LOCK,JAM,BOLT,MIRROR ARM,B&R

12 0063598 NUT,MIRROR,ACORN,B&R

13 0063596 GROMMET,MIRROR,ARM,B&R

NI 4759872 SWITCH,MIRROR,REMOTE,ROADSIDE

2
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
EXTERIOR
DRIVER SIDE
MANUAL

With: FEATURE 30483-11

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005051

3
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
EXTERIOR
DRIVER SIDE
MANUAL

With: FEATURE 30483-11

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005051

0059020 MIRROR ASSEMBLY,ROADSIDE,

1 0063653 HOUSING,MIRROR HEAD,B&R

2 0063441 ARM,MIRROR,6",DRIVER,B&R

3 0063561 GLASS,MIRROR,FLAT,UPPER,MANUAL,DRIVER,

4 0063316 GLASS,MIRROR,CONVEX,BOTTOM,DRIVER,B&R

5 0063593 MECHANISM,MIRROR,MANUAL,UPPER,B&R INCLUDES UPPER & LOWER 
MECHANISM.

6 NOT AVAILABLE SEPARATELY, 
ONLY AVAILABLE WITH KEY #1.

7 0063324 CAP,BOLT,MIRROR ARM,B&R

8 0063436 BOLT,HEX HD,B&R MIRROR ARM

9 0063562 CLAMP,BOLT,MIRROR ARM,B&R

10 0063387 BRACKET,MTG,MIRROR ARM,DRIVER,B&R

11 0063595 NUT,LOCK,JAM,BOLT,MIRROR ARM,B&R

12 0063598 NUT,MIRROR,ACORN,B&R

13 0063596 GROMMET,MIRROR,ARM,B&R

NI 4759872 SWITCH,MIRROR,REMOTE,ROADSIDE

3
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
EXTERIOR
PASSENGER SIDE
HEATED/ REMOTE

With: FEATURE 30482-05

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005054

4
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
EXTERIOR
PASSENGER SIDE
HEATED/ REMOTE

With: FEATURE 30482-05

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005054

0059021 MIRROR ASSEMBLY,CURBSIDE,HEATED-REMOTE NOTE FROM VENDOR: DUE TO 
THE DESIGN OF THE MIRROR, 
THE MIRROR HEAD ASSEMBLY IS
NOT AVAILABLE SEPARATELY 
WITHOUT THE ARM.

1 0063653 HOUSING,MIRROR HEAD,B&R

2 NOT AVAILABLE SEPARATELY, 
ONLY AVAILABLE WITH KEY 
NUMBER 1.

3 0063317 MOTOR,MIRROR,12V,HTD/REMOTE (B&R)" INCLUDES UPPER & LOWER 
MOTOR.

4 0063371 GLASS,MIRROR,FLAT,UPPER,HTD/REMOTE,

5 0063375 GLASS,MIRROR,CONVEX,BOTTOM,PASSENGER,

6 0063412 ARM,MIRROR,22"",PASSENGER,B&R

7 0063596 GROMMET,MIRROR,ARM,B&R

8 0063330 BRACKET,MTG,MIRROR ARM,PASSENGER,B&R

NI 4759873 SWITCH,MIRROR,REMOTE,CURBSIDE

4
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
EXTERIOR
PASSENGER SIDE
MANUAL

With: FEATURE 30483-11

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005052

5
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
EXTERIOR
PASSENGER SIDE
MANUAL

With: FEATURE 30483-11

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005052

0059022 MIRROR ASSEMBLY,CURBSIDE,

1 0063653 HOUSING,MIRROR HEAD,B&R

2 NOT AVAILABLE SEPARATELY, 
ONLY AVAILABLE WITH KEY #1.

3 0063593 MECHANISM,MIRROR,MANUAL,UPPER,B&R INCLUDES UPPER & LOWER 
MECHANISM.

4 0063600 GLASS,MIRROR,FLAT,UPPER,MANUAL,

5 0063375 GLASS,MIRROR,CONVEX,BOTTOM,PASSENGER,

6 0063412 ARM,MIRROR,22"",PASSENGER,B&R

7 0063689 PLUG,MIRROR,ARM,B&R

8 0063330 BRACKET,MTG,MIRROR ARM,PASSENGER,B&R

NI 4759873 SWITCH,MIRROR,REMOTE,CURBSIDE

5
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
INTERIOR
DRIVER'S STEPWELL

With: FEATURE 6194

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005049

6
To order, contact your Blue Bird Authorized Dealer

PageSet Number



Models: C4RE
INTERIOR
DRIVER'S STEPWELL

With: FEATURE 6194

Service Parts Catalog

Key PartNumber Qty Description Comment

390 Mirrors
Page Set PS0005049

1 1811967 BRACE,MIRROR,CONVEX EXIT, QBRE

2 1811959 BRACKET,MTG,MIRROR,CONVEX EXIT, QBRE

3 1220466 MIRROR,12 CONVEX,EXIT STEP,ROSCO 362R,

4 0038635 FITTING,FLOOR, C4RE

5 0041067 FITTING,TEE,W/HARDWARE,STANCHION, C4RE

6 1062124 4 SCREW,1/4-14 X 1,AB,PH1,PAN HD,YEL ZN 

7 0864579 SCREW,10-16 X 3/4,AB,PH1,PAN HD,SST 

8 1607043 SCREW,TUBE FITTING,INTERNAL THD,1/4-28

9 1607035 SCREW,TUBE FITTING,EXTERNAL THD,1/4-28

10 1415769 3 RIVET,POP,.18 X .45,CHERRY SSPS-6-4

11- KEY # 11-13 IS NOT APPLICABLE
TO THE C4RE.

6
To order, contact your Blue Bird Authorized Dealer

PageSet Number




